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Part One. Reading Comprehension 
Section A
Passage One
    Football is, I believe, the most popular game in England: One has only to go to one of the important matches to see this. Rich and poor, young and old, one can see them all there, shouting for one side or the other.
    To a foreigner, one of the most surprising things about football in England is the great knowledge of the game which even the smallest boy seems to have. He can tell you the names of the players in most of the important teams. He has pictures of them and knows the result of large numbers of matches. He will tell you who he expects will win such and such a match, and his opinion is usually as good as that of men three of four times his age.
    Most schools in England take football seriously―much more seriously than nearly all the other European schools, where lessons are all that are important ,and games are left for filling a boy’s mind with facts in the classroom, education also means the training of character(性格)；and one of the best ways of training character is by means of games, especially team games where the boy or girls has to learn to work with others for his/her team, instead of working for himself/herself alone. The school therefore plans games and matches for its pupils. Football is a good team game; it is good both for the body and the mind. That is why it is very every school’s game in England.
In the first sentence of the passage , “this” refers to the fact that＿＿.
   A. one has to go to one of the important matches

   B. football is the most popular game in England 

   C. all kinds of people like playing football

   D. people shout for one side or other
To a foreigner, what is so surprising about football in England?
   A. Little boys know more about the results of football matches than old people.
   B. The names of the important players are known to all.
   C. Even the smallest boy seems to know a lot about the game.
   D. Players know the results of large numbers of matches.
What is true of education in England?

   A. Lessons are not taken seriously.
   B. Lessons are considered the most important.
   C. Education means filling children’s minds with knowledge.
   D. Games and matches are a part of education.
From football games ,it is believed that children can＿＿.
A. train their character        B. work for themselves
C. plan games and matches    D. learn their lessons
Which of the following statement is true according to the passage?
   A. All European schools take football seriously.
   B. Football is a good game for training character.
   C. Even the smallest boy in England can play football well.

   D. Football in England is more important than lessons.
Passage Two
    Police fired tear gas and arrested more than 5,000 passively resisting protesters Friday in an attempt to break up the largest antinuclear demonstration ever staged in the United States. More than 135,000 demonstrators confronted police on the construction site of a 1,000-megawatt nuclear power plant scheduled to provide power to most of southern New Hampshire. Organizers of the huge demonstration said, the protest was continuing despite the police actions. More demonstrators were arriving to keep up the pressure on state authorities to cancel the project. The demonstrator had charged that the project was unsafe in the densely populated area, would create thermal pollution in the bay, and had no acceptable means for disposing of its radioactive wasters. The demonstrations would go on until the jails and the courts were so overloaded that the state judicial system would collapse.

    Governor Stanforth Thumper insisted that there would be no reconsideration of the power project and no delay in its construction set for completion in three years. “This project will begin on time and the people of this state will begin to receive its benefits on schedule. Those who break the law in misguided attempts to sabotage the project will be dealt with according to the law,” he said. And police called in reinforcements from all over the state to handle the disturbances.

    The protests began before dawn Friday when several thousand demonstrators broke through police lines around the cordoned-off construction site. They carried placards that read “No Nukes is Good Nukes,” “Sunpower, Not Nuclear Power,” and “Stop Private Profits from Public Peril.” They defied police order to move from the area. Tear gas canisters fired by police failed to dislodge the protesters who had come prepared with their own gas masks or facecloths. Finally gas-masked and helmeted police charged into the crowd to drag off the demonstrators one by one. The protesters did not resist police, but refused to walk away under their own power. Those arrested would be charged with unlawful assembly, trespassing, and disturbing the peace.

6. What were the demonstrators protesting about?
   A. Private profits.                         B. Nuclear Power Station.
   C. The project of nuclear power construction.   D. Public peril.

7. Who had gas-masks?
   A. Everybody.          B. A part of the protesters.
   C. Policemen.          D. Both B and C.
8. Which of the following was NOT mentioned as a reason for the demonstration?
   A .Public transportation.     B. Public peril.
   C. Pollution.              D. Disposal of wastes.

9. With whom were the jails and courts overloaded?
   A .With prisoners.      B. With arrested demonstrators.
   C .With criminals.      D. With protesters.

10. What is the attitude of Governor Stanforth Thumper toward the power project and the demonstration?
   A .stubborn.     B. insistent.     C. insolvable.     D. Remissible.

Passage Three


The Norwegian Government is doing its best to keep the oil industry under control. A new law limits exploration to an area south of the southern end of the long coastline; production limits have been laid down (though these have already been raised); and oil companies have not been allowed to employ more than a limited number of foreign workers. But the oil industry has a way of getting over such problems, and few people believe that the Government will be able to hold things back for long. As on Norwegian politician said last week: “We will soon be changed beyond all recognition.”


Ever since the war, the Government has been carrying out a programme of development in the area north of the Arctic Circle. During the past few years this programme has had a great deal of success: Tromso has been built up into a local capital with a university, a large hospital and a healthy industry. But the oil industry has already started to draw people south, and within a few years the whole northern policy could be in ruins.


The effects of the oil industry would not be limited to the north, however. With nearly 100 percent employment, everyone can see a situation developing in which the service industries and the tourist industry will lose more of their workers to the oil industry. Some smaller industries might even disappear altogether when it becomes cheaper to buy goods from abroad.


The real argument over oil is its threat to the Norwegian way of life. Farmers and fishermen do not make up most of the population, but they are an important part of it, because Norwegians see in them many of the qualities that they regard with pride as essentially Norwegian. And it is the farmers and the fishermen who are most critical of the oil industry because of the damage that it might cause to the countryside and to the sea.

11.The Norwegian Government would prefer the oil industry to

   A. provide more jobs for foreign workers.

   B. slow down the rate of its development.
   C. sell the oil it is producing abroad.

   D. develop more quickly than at present.

12.The Norwegian Government has tried to

   A. encourage the oil companies to discover new oil sources.

   B. prevent oil companies employing people from northern Norway.

   C. help the oil companies solve many of their problems.

   D. keep the oil industry to something near its present size.

13.According to the passage, the oil industry might lead northern Norway to

   A. the development of industry.

   B. a growth in population.

   C. the failure of the development programme.

   D. the development of new towns.

14.In the south, one effect to the development of the oil industry might be

   A. a large reduction on unemployment.

   B. a growth in the tourist industry.

   C. a reduction in the number of existing industries.

   D. the development of a number of service industries.

15.Norwegian farmers and fishermen have an important influence because

   A. they form such a large part of Norwegian ideal.

   B. their lives and values represent the Norwegian ideal.

   C. their work is so useful to the rest of Norwegian society.

   D. they regard oil as a threat to the Norwegian way of life.

Passage Four

    Each time we produce a new English dictionary, our aim is always the same: what can we do to make the dictionary more helpful for students of English? As a result of our research with students and discussions with teachers, we decided to focus on providing more examples for this English dictionary.

    Example help students to remember the word they have looked up in the dictionary because it is easier both remember and to understand a word within a context(上下文)。The example also show that words are often used in many different context. For these reasons, we have included 40 per- cent more examples in this new book.

    We edit all the example to difficult words and to make sure they are easier to understand.

    We very much hope this new book will be of use not only to the students of English but also to the teachers.

16. The aim of the author in producing this new dictionary is to＿＿.

   A. correct mistakes in the old dictionary

   B. make it more helpful for students
   C. increase the number of words

   D. add pictures and photo 

17. A word is easier to remember and understand if it is＿＿.

   A. included in a word list         B. pronounced correctly

   C. explained in English          D. used in a context

18. What is special about this new dictionary?

   A. it is small and cheap          B. it has a large vocabulary

   C. it has 40% more examples.     D. it is designed for students and teachers.

19. The purpose of removing difficult words in the example is＿＿.

   A. make them easier to understand   B. provide more useful words 

   C. introduce more contexts         D. include more examples

20. The passage is most probably taken from＿＿.

   A. a letter to the editor             B. a comment on a novel

　 C. an introduction to a dictionary     D. a news report in the newspaper

Section B

Passage One
Fifteen years ago, I entered the Boston Globe, which was a temple to me then. It wasn’t easy getting hired. But once you were there, I found, you were in.

Globe jobs were for life-guaranteed until retirement. For 15 years I had prospered there — moving from an ordinary reporter to foreign correspondent and finally to senior editor. I would have a lifetime of security is I struck with it. Instead, I had made a decision to leave. I entered my boss’s office. Would he rage? I wondered. He had a famous temper. “Matt, we have to have a talk,” I began awkwardly. “I came to the Globe when I was twenty-four. Now I’m forty. There’s a lot I want to do in life. I’m resigning.” “To another paper?” he asked. I reached into my coat pocket, but didn’t say anything. I handed him a letter that explained everything. It said that I was leaving to start a new media company. We were at a rare turning point in history. I wanted to be directly engaged in the change. “I’m glad for you,” he said, quite out of my expectation. “I just came from a board of directors meeting and it was seventy-five percent discouraging news. Some of that we can deal with. But much of it we can’t, ” he went on. “I wish you all the luck in the world,” he concluded. “And if it doesn’t work out, remember, your star is always high here.”

Then I went out of his office, walking through the newsroom for more good-byes. Everybody was saying congratulations. Everybody — even though I’d be risking all on an unfamiliar venture: all the financial security I had carefully built up.

Later, I had a final talk with Bill Taylor, chairman and publisher of the Boston Globe. He had turned the Globe into a billion-dollar property. “I’m resigning, Bill, ”I said. He listened while I gave him the story. He wasn’t looking angry or dismayed either. After a pause, he said, “Golly, I wish I were in your shoes.”

1. From the passage we know that the Globe is a famous _______.

  A. newspaper   B. magazine

  C.temple     D. church

2. If the writer stayed with the Globe _________.

  A. he would be able to realize his lifetime dreams.

  B.he would let his long-cherished dreams fade away.

  C. he would never have to worry about his future life.

  D. he would never be allowed to develop his ambitions.

3. The writer wanted to resign because _________.

  A. he had serious trouble with his boss.

  B. he got underpaid at his job for the Globe.

  C. he wanted to be engaged in the new media industry.
  D.] he had found a better paid job in a publishing house.

4. When the writer decided to resign the Globe was faced with _______.

  A. a trouble with its staff members

  B. a shortage of qualified reporters

  C. an unfavorable business situation

  D.an uncontrollable business situation

5. By “:I wish I were in your shoes.” （in the last paragraph） Bill Taylor meant that _______.

  A. the writer was to fail.

  B. the writer was stupid

  C.he would do the same if possible

  D.he would reject the writer’s request

Passage Two
Do you find it very difficult and painful to get up in the morning? This might be called laziness, but Dr. Kleitman has a new explanation. He has proved that everyone has a daily energy cycle.

During the hours when your labor through your work you may say that you’re “hot”. That’s true. The time of day when you feel most energetic is when your cycle of body temperature is at its peak. For some people the peak comes during the forenoon. For others it comes in the afternoon or evening. No one has discovered why this is so, but it leads to such familiar monologues as: “Get up, Peter! You’ll be late for work again!” The possible explanation to the trouble is that Peter is at his temperature-and-energy peak in the evening. Much family quarrelling ends when husbands and wives realize what these energy cycles mean, and which cycle each member of the family has.

You can’t change your energy cycle, but you can learn to make your life fit if better. Habit can help, Dr. Kleitman believes. Maybe you’re sleepy in the evening but feel you must stay up late anyway. Counteract your cycle to some extent by habitually staying up later than you want to. If your energy is low in the morning, but you have an important to do early in the day, rise before your usual hour. This won’t change your cycle, but you’ll get up steam and work better at your low point.

Get off to a slow start which saves your energy. Get up with a leisurely yawn and stretch. Sit on the edge of the bed a minute before putting your feet on the floor. Avoid the troublesome search for clean clothes by laying them out the night before. Whenever possible, do routine work in the afternoon and save requiring more energy or concentration for your sharper hours.

6.. If a person finds getting up early a problem, most probably ________.

  A. he is a lazy person.

  B. he refuses to follow his own energy cycle.

  C.he is not sure when his energy is low.

  D.he is at his peak in the afternoon or evening.
7.. Which of the following may lead to family quarrels according to the passage?

  A. Unawareness of energy cycles.

  B.Familiar monologues.

  C.A change in a family member’s energy cycle.

  D. Attempts to control the energy cycle of other family members.

8.. If one wants to work efficiently at his low point in the morning, he should __________.

  A.change his energy cycle

  B. overcome his laziness

  C.get up earlier than usual

  D.go to bed earlier

9.. You are advised to rise with a yawn and stretch because it will __________.

  A. help to keep your energy for the day’s work.

  B. help you to control your temper early in the day

  C.enable you to concentrate on your routine work

  D.keep your energy your energy cycle under control all day

10. Which of the following statements is NOT true?

  A. Getting off to work with a minimum effort helps save one’s energy.

  B. Dr. Kletman explains why people reach their peaks at different hours of day.

  C. Habit helps a person adapt to his own energy cycle.

  D.Children have energy cycles, too.

　

Passage Three
There was one thought that air pollution affected only the area immediately around large cities with factories and heavy automobile traffic. At present, we realize that although these are the areas with the worst air pollution, the problem is literally worldwide. On several occasions over the past decade, a heavy cloud of air pollution has covered the east of the United States and brought health warnings in rural areas away from any major concentration of manufacturing and automobile traffic. In fact, the very climate of the entire earth may be infected by air pollution. Some scientists consider that the increasing concentration of carbon dioxide in the air resulting from the burning of fossil fuels （coal and oil） is creating a “greenhouse effect”— conserving heat reflected from the earth and raising the world's average temperature. If this view is correct and the world's temperature is raised only a few degrees, much of the polar ice cap will melt and cities such as New York, Boston, Miami, and New Orleans will be in water.

Another view, less widely held, is that increasing particular matter in the atmosphere is blocking sunlight and lowering the earth's temperature — a result that would be equally disastrous. A drop of just a few degrees could create something close to a new ice age, and would mane agriculture difficult or impossible in many of our top farming areas. Today we do not know for sure that either of these conditions will happen （though one recent government report drafted by experts in the field concluded that the greenhouse effect is very possible） Perhaps, if we are lucky enough, the two tendencies will offset each other and the world's temperature will stay about the same as it is now. Driven by economic profits, people neglect the damage on our environment caused by the “advanced civilization”. Maybe the air pollution is the price the human beings have to pay for their development. But is it really worthwhile?

11. As pointed out at the beginning of the passage, people used to think that air pollution _______.

  A. cause widespread damage in the countryside

  B. affected the entire eastern half of the United States

  C. had damaged effect on health

  D. existed merely in urban and industries areas

12.. As to the greenhouse effect, the author __________.

  A. share the same view with the scientist.

  B. is uncertain of its occurrence

  C. rejects it as being ungrounded

  D. thinks that it will destroy the world soon

13.. The word “offset” in the second paragraph could be replaced by _________.

  A.slip into   B. make up for

  C.set up     D. catch up with

14. It can be concluded that ____________.

  A. raising the world's temperature only a few degrees would not do much harm to life on earth.

  B. lowering the world's temperature merely a few degrees would lead major farming areas to disaster.

  C. almost no temperature variations have occurred over the past decade.

  D. the world's temperature will remain constant in the years to come.

15. This passage is primarily about __________.

  A.the greenhouse effect……

  B.the burning of fossil fuels……

  C.the potential effect of air pollution.

  D. the likelihood of a new ice age. Part B

Passage Four
    People who work night shifts are constantly fighting against an "internal clock" in their bodies. Quite often the clock tells them to sleep when their job requires them to remain fully awake. It's no wonder that more accidents happen during night shills than at any other time. Light therapy(照光治疗法) with a bright light box can help night-shift workers adjust their internal clock, However, many doctors recommend careful planning to help improve sleep patterns. For example, night-shift workers often find it difficult to sleep in the morning when they get off work because the body's natural rhythm(节律) fights back, no matter how tired they are. Some experts recommend that night-shift workers schedule two smaller sleep periods--one in the morning 'after work, and another longer one in the afternoon, closer to when the body would naturally need to sleep. It's also helpful to ask friends and family to cooperate by avoiding visits and phone calls during the times when you are sleeping.

16. Night-shift workers are those who ______.

  A.have to rely on their internal clock             B.need to re-adjust their clock

  C.fall asleep late at night                       D. have to work at night

17. In order to remain fully awake at work, people working night shifts should ______.

  A.have longer sleep periods after work           B. make the light darker than usual

  C.try to re-set their "internal clock"             D.pay more attention to their work

18. Many doctors think it is helpful for night-shill workers ______.

  A. to sleep with a bright light on                 B. to plan sleep patterns carefully

  C. to avoid being disturbed at work               D. to sleep for a long lime after work

19. Night-shift workers often find it difficult to sleep in the morning because ______.

  A. their internal clock will not allow them to     B. they are often disturbed by morning visits

  C. they are not trying hard enough to do so       D. they are too tired to go to sleep well

20. According to the passage, some doctors recommend that night-shift workers should ______.

  A. have frequent visits and phone calls           B. improve their family relationship

  C. have two smaller sleep periods               D. rely mainly on light therapy

Section C

Passage One
    How the first stars formed from this dust and gas has been a burning question for years，but a state-of-the-art computer simulation now offers the most detailed picture yet of how these first stars in the universe came into existence，researchers say． 

　　The composition of the early universe was quite different from that of today，and the physics that governed the early universe were also somewhat simpler．Dr．Naoki Yoshida and colleagues in Japan and the U．S．incorporated these conditions of the early universe，sometimes referred to as the "cosmic dark ages，"to simulate the formation of an astronomical object that would eventually shine its light into this darkness． 

　　The result is a detailed description of the formation of a protostar-the early stage of a massive primordial star of our universe，and the researchers' computer simulation，which has been called a "cosmic Rosetta Stone．"sets the bar for further investigation into the star formation process．The question of how the first stars evolved is so important because their formations and eventual explosions provided the seeds for subsequent stars to come into being． 

　　According to their simulation，gravity acted on minute density variations in matter，gases，and the mysterious"dark matter''of the universe after the Big Bang in order to form this early stage of a star-a protostar with a mass of just one percent of our sun．The simulation reveals how pre-stellar gases would have actually evolved under the simpler physics of the early universe to form this protostar． 

　　Dr．Yoshida's simulation also shows that the protostar would likely evolve into a massive star capable of synthesizing heavy elements，not just in later generations of stars，but soon after the Big Bang． 

　　"This geneal picture of star formation，and the ability to compare how stellar objects form in different time periods and regions of the universe，will eventually allow investigation into the origins of life and planets，"said Lars Hernquist，a Professor of Astronomy at Harvard University and a coauthor of this latest report．"The abundance of elements in the universe has increased as stars have accumulated，"he says，"and the formation and destruction of stars continues to spread these elements further across the universe．So when you think about it．a11 of the elements in our bodies originally formed from nuclear reactions in the centers of stars，long ago．" 

　　Their simulation of the birth of a protostar in the early universe signifies a key step toward the ambitious goal of piecing together the formation of an entire primordial star and of predicting the mass and properties of these first stars of the universe．More powerful computers，more physical data and an even larger range will be needed for further calculations and simulations，but these researchers hope to eventually extend this simulation to the point of nuclear reaction initiation-when a stellar object becomes a true star． 

　　"Dr．Yoshida has taken the study of primordial star formation to a new level with this simulation，but it still gets us only to the halfway point towards our final goal．It is like laying the foundation of a skyscraper，"said Volker Bromm，Assistant Professor of Astronomy at the University of Tex． as，Austin and the author of a companion article．"We must continue our studies in this area to understand how the initially tiny protostar grows，layer by layer，to eventually form a massive star．Bu there，the physics become much more complicated and even more computational resources are needed．" 

1．According to the first two paragraphs，the early universe_______． 

　A．was governed by simpler physics 　B．got fewer stars shinning in it 

　C．started over 13 billion years ago 　D．was composed in a way similar to that of today 

2．What can the state-of-the．art computer simulation tell us about? 

　A．How the Big Bang occurred about 13 billion years ago． 

　B．How"cosmic dark ages"came into existence． 

　C．How dust grains and gases were formed after the Big Bang． 

　D．How the first stars canle into being after the Big Bang． 

3．What does the"astronomical object"in paragraph 2 refer to? 

　A．cosmic dark ages． 　B．dust grains and gases． 

　C．a protostar．      　D．the early universe． 

4．According to paragraph 4，what is NOT true about a protostar? 

　A．It developed into a massive star during the Big Bang． 

　B．It evolved from pre-stellar gases． 

　C．It was able to integrate heavy elements when evolving into a massive star． 

　D．It had a mass of one percent of the sun． 

5．According to the last paragraph，all of the following are goals of the simulation project EXCEPT 

　A．to know more about the mass and properties of the first stars of the universe 

　B．to simulate the process of how the early universe began 

　C．to apply the simulation to the study of nuclear reaction initiation 

  D．to discover the truth about the formation of a protostar 

Passage Two 

　　On a September,day in 1991，two Germans were climbing the mountain between Austra and Ita1y．High up on a mountain pass，they found the body of a man lying on the ice．At that height (10，499 feet，or 3，200 meters)，the ice is usually permanent，but 1991 had been an especially 　　warm year．The mountain ice had melted more than usual and so the body had come to the surface．It was lying face downward．The skeleton(骨架)was in perfect condition except a wound on the head．remains of some clothes．The hands were still holding the wooden handle of an ax and on the feet there were very simple leather and cloth boots．Nearby was a pair of gloves made of tree bark (树皮)and a holder for arrows． 

　　Who was the man?How and when had he died?Everybody had a different answer to these questions．Some people thought that it was from this century，perhaps the body of a soldier who died in World War I，since several soldiers had already been found in this area．A Swiss woman who believed it might be her father，who had died in those mountains twenty years before and whose body had never been found．The scientists who rushed to look at the body thought it was probably much older，maybe even a thousand years old． 

　　With modem dating techniques，the scientists soon learned that the iceman was about 5，300 years old．Born in about 3300 B．C．，he lived during the Bronze Age in Europe．At first scientists thought he was probably a hunter who had died from an accident in the high mountains．More recent evidence，however，tells a different story．A new kind of X-ray shows an arrowhead still stuck in his shoulder．It left only a tiny hole in his skin，but it caused internal damage and bleeding．He almost certainly died from this wound，and not from the wound oil the back of his head．This means that he was probably in some kind of battle．It may have been part oi a large war，or he may have been fighting bandits．He may even have been a bandit himself． 

　　By studying his clothes and tools，scientists have already learned a great deal from the Iceman about the times he lived in．we may never know the full story of how he died，but he has given us important clues to the history of those distant times． 

6．The body of the iceman was found in the mountains mainly because_________． 

　A．he was lying on the ice        　B．two Germans were climbing mountains 

　C．the melted ice made him visible 　D．he was just on a mountain pass 

7．What can be inferred from paragraph 2? 

　A．The iceman was killed while working． 

　B．The iceman could have died from the wound in the head． 

　C．The iceman lived a poor life． 

　D．The iceman was struck dead from behind． 

8．All the following are assumptions once made about iceman EXCEPT_____________． 

　A．he was a soldier in World War I 

　B．he came from Italy 

　C．he was a Swiss woman's long-lost father 

　D．He was born about a thousand years ago 

9．The scientists made the deduction that the iceman_________． 

　A．was hit in the shoulder by an arrowhead 

　B．was probably in some kind of a battle 

　C．had got a wound on the back of his head 

　D．has a tiny hole in his skin causing his death． 

10．The word"bandits"in paragraph 4 could be best replaced by________． 

　A．robbers 　B．soldiers 　C hunters 　D．shooters 

Passage Three 

   Good news for chocoholics：the treat preferred by millions all over the world is good for you，according to American researchers at the University of California．Chocolate contains substances called flavonoids that can help maintain a healthy heart and good circulation．The researchers have discovered that cocoa acts like aspirin and that eating a bar of chocolate has also been shown to release endorphins in the body：these chemicals help to reduce pain and stress and make you feel happy. 

　　The Olmec Indians of Mexico and Central America were the first to grow cocoa beans，in about1500 BC，and the Mayas were drinking unsweetened coca hundreds of years before it became fashionable in Europe． 

　　In 1544，a delegation of Mayan nobles visited Philip of Spain and gave him jars of cocoa as a gift．Cocoa soon became fashionable in Spain and Portugal．The Spanish were the first to add sugar to their cocoa drink． 

　　By the middle of the century，solid chocolate was becoming familiar．In 1765，James Baker and John Hanan opened the first chocolate mill in the United States，introducing chocolate to the average citizen．In 1896，in Switzerland，Daniel Peter had the idea of adding milk in the chocolate-making process and produced the first milk chocolate． 

　　Since then，chocolate has grown enormously in popularity．One of the biggest chocolate-eating nations is Britain where the average man，women，and child eats nine kilos of chocolate a year．In fact，chocolate is the number one comfort food and there are more chocoholics in Britain than any where else in the world．Researchers warn that although chocolate is good for you，it should be eaten in small quantities and with no added milk． 

11．Why is chocolate good for heart and circulation? 

　A．It reduces pain and stress． 　          B．It contain substances called flavonoids． 

　C．It releases endorphins in human body． 　D．It acts like aspirin to protect heart． 

12．When cocoa was first introduced to Europe_________，it soon became fashionable． 

　A．as a drink 　 B．as a gift  　C．as food 　 D．as a medicine 

13．What does James Bakers and John Hanan do about chocolate? 

　A．They produce the first mild chocolate． 

　B．They introduce chocolate to Europe． 

　C．They add sugar to make chocolate bars． 

　D.They make chocolate accessible to average man． 

14．Which is the following statement is not true according to the passage? 

　A．Chocolate contains substances that make people feel happy． 

　B．Chocolate is good for health if it is eaten with added milk． 

　C．Eating chocolate occasionally contributes to a healthy diet． 

　D．Chocolate is loved by millions of people worldwide． 

15．What is the author's tone about eating chocolates? 

　A．Ambiguous    　B．negative    　C．positive    　D．humorous                                   
Passage Four
   Millions of people are using cell phones today. In many places it is actually considered unusual not to use one. In many countries, cell phones are very popular with young people. They find that the phones are more than a means of communication—having a mobile phone shows that they are cool and connected. 

　　The explosions around the world in mobile phone use make some health professional worried. Some doctors are concerned that in the future many people may suffer health problems from the use of mobile phones. In England, there has been a serious debate about this issue. Mobile phone companies are worried about the negative publicity of such ideas. They say that there is no proof that mobile phones are bad for your health. 

　　On the other hand, why do some medical studies show changes in the brain cells of some people who use mobile phones? Signs of change in the issues of the brain and head can be detected with modern scanning (扫描) equipment. In one case, a traveling salesman had to retire at a young age because of serious memory loss. He couldn't remember even simple tasks. He would often forget the name of his own son. This man used to talk on his mobile phone for about six hours a day, every day of his working week, for a couple of years. His family doctor blamed his mobile phone use, but his employer's doctor didn't agree. 

　　What is it that makes mobile phones potentially harmful? The answer is radiation. High-tech machines can detect very small amounts of radiation from mobile phones. Mobile phone companies agree that there is some radiation, but they say the amount is too small to worry about. 

　　As the discussion about their safety continues, it appears that it's best to use mobile phones less often. Use your regular phone if you want to talk for a long time. Use your mobile phone only when you really need it. Mobile phones can be very useful and convenient, especially in emergencies. In the future, mobile phones may have a warning label that says they are bad for your health. So for now, it's wise not to use your mobile phone too often 

16.People buy cell phones for the following reasons EXCEPT that 

　A. they're popular 　B. they're cheap 　C. they're useful 　D. they're convenient 

17.The world "detected" in paragraph 3 could be best replaced by 

　A. cured 　       B. removed 　    C. discovered 　  D. caused 

18.The salesman retired young because 

　A. he disliked using mobile phones 　  B. he was tired of talking on his mobile phone 

　C. he couldn't remember simple tasks 　D. his employer's doctor persuaded him to 

19.On the safety issue of mobile phones, the manufacturing companies 

　A. deny the existence of mobile phone radiation 

　B. develop new technology to reduce mobile phone radiation 

　C. try to prove that mobile phones are not harmful to health 

　D. hold that the amount of radiation is too small to worry about 

20.The writer's purpose of writing this article is to advise people 

　A. to buy mobile phones 　        B. to update regular phones 

　C. to use mobile phones less often 　D. to stop using mobile phones 

Part Two. Vocabulary and Structure 

1.The general manager is always busy. You should phone his secretary to make an _____ if 

you want to see him. 

   A.appointment      B.offer       C.interview      D.opportunity  

2.My suitcase was so full that it didn’t have _____ for anything else. 

   A.spot      B.room      C.place      D.area  

3.You are a little overweight. I suggest you _____ Rosie’s example and start doing regular exercise. 

   A.set     B.copy      C.follow      D.give  

4.In 1969 two American astronauts _____ on the moon and walked on its rocky, dusty surface. 

   A.concentrate      B.based      C.landed      D.focused  

5.– Do you let your kids go out alone at night? 

– _____ not! 

   A.Absolutely     B.Extremely     C.Actually      D.Eventually  

6.It had never _____ to him that he might be falling in love with her. 

   A.happened      B.referred      C.occurred      D.came  

7.Due to circumstances _____ our control the performance had to be cancelled. 

   A.beyond      B.above      C.over      D.under  

8.If you’re looking for a job you need to be _____ about where you’re prepared to work. 

   A.changeable      B.available      C.flexible      D.mobile  

9.The woman’s illness _____ the doctors; they couldn’t find the cause. 

   A.attracted      B.excited      C.puzzled      D.interrupted  

10.You’d better have the pipe checked today. It has kept _____ for three days. 

   A.pouring      B.leaking      C.spitting      D.dropping 

11.This house has many interesting _____. The one I like most is a large Victorian fireplace. 

   A.appearances      B.features      C.mysteries      D.aspects  

12.Students from poor families can apply for _____ aid from the government to support their 

education. 

   A.legal      B.first       C.financial     D.economic  

13.I didn’t expect the restaurant would _____ us ￡50 for the wine. 

   A.spend      B.charge      C.cost      D.take  

14.Sorry I never drink milk; it doesn’t _____ me. 

   A.agree to     B.agree on      C.agree with      D.agree about  

15.This nurse was _____ when you were sent to the hospital. 

   A.in turn       B.in practice      C.on duty       D.on business  

16.Getting young people together will help to _____ the barriers between them. 

   A.break off      B.break down      C.break up      D.break out  

17.You can go out, _____ you promise to come back before 11 o’clock. 

   A.as far as      B.as soon as      C.so far as      D.so long as  

18.Caroline doesn’t have a natural gift for music but she ______ it with hard work. 

   A.makes for      B.makes into      C.makes up for      D.makes use of  

19.It is quite clear that his only reason for investing in the company is to _____. 

   A.take it over  B.take it down      C.take it in      D.take it off  

20.Excuse me, you can complain to me; I’m the person _____. 

   A.in case      B.in charge      C.in effect      D.in force 

21. The doctor promised to keep all the family members _____ of how the operation was going 

on.  

   A.informing        B.to be informed       C.informed       D.to inform  

22. Mr. Smith stayed up late on Friday, _____ a long speech for the president. 

   A.prepared       B.to prepare       C.preparing       D.prepare  

23. The angry demonstrators demanded that the military government _____ all political 

prisoners. 

   A.free        B.must free       C.freed       D.would  

24. You will get your camera next Monday. We regret any inconvenience _____ to you. 

   A.having caused      B.causing        C.to be caused       D.caused  
25. Now everything is clear and there is no point _____ the truth. 

   A.in denying       B.to deny       C.by denying       D. deny  

26. _____ is known to all, Lu Xun is one of the greatest writers in China. 

   A.It       B.That       C.As       D.Which  

27. Medical treatment varies greatly from state to state in this country, _____ is really 

confusing to me 

   A.this       B.it       C.that       D.which  

28. Brown’s father told him he could have _____ he wanted for birthday.  

   A.wherever       B.whatever       C.whenever       D.whichever  

29. The day will come sooner or later _____ I buy a boat and sail around the world. 

   A.since       B.as       C.until       D.when  

30. At the end of last month, they _____ thirty percent of the production plan. 

   A.will finish       B.have finished       C.had finished       D.finished  

31. If I _____ younger and in better condition, I would have run after the thief with others. 

   A.were       B.was        C.had been       D.would be  

32. _____ the telephone was invented in the nineteenth century _____ speech sounds over 

a long  

   A.Not until…could people send       B.Not until…people could send 

   C.Until…could people not send       D.Until…people could send  

33. Though dress may be, _____ some extent, helpful in judging a person, that alone will 

not be sufficient. 

   A.for       B.to       C.in       D.by  

34. Tom didn’t believe a word she said and _____. 

   A.neither did the police         B.neither the police did 

   C.the police didn’t neither       D.the police did neither  

35. The _____ they arrived at the hotel, couples were presented with a bunch of roses. 

   A.moment       B.time        C.occasion       D.chance  

36. I talked with Julia in the classroom just a minute ago. She _____ to the cinema. 

   A.hadn’t gone     B.shouldn’t have gone   C.can’t have gone   D.wouldn’t have gone  

37. A survey was carried out on children’s attitudes to violence on television, _____ was 

surprising.  

   A.the result   B.its result       C.which results        D.the result of which  

38. Scientists have found that there are four levels of sleep, each _____ a little deeper 

than the one before. 

   A.is       B.was       C.being       D.to be  

39. We lost our way in the desert, and _____ made matters worse was that we ran out of water. 

   A.it       B.that       C.which       D.what  
40. In the Middle Ages people believed it was the earth, not the sun, _____ the center of 

our planetary system. 

   A.was that       B.that was       C.was       D.that 

41.It is highly _____ that the project will be of great use in solving the water pollution problem.

   A.probably      B.possibly      C.likely      D.certainly

42.You should be _____ of yourself for telling such a lie.

     A.afraid      B.sorry      C.ashamed      D.regretful

43.Obviously the steak is overdone. I can hardly _____ it.

     A.swallow      B.chew      C.eat      D.taste

44. His newly published novel, _____ spoken of by both experts and common readers, is a great success.

     A.exactly      B.awfully      C.highly      D.appropriately

45.You might consider _____ work before you decide what you want to do.

    A.lifelong      B.present      C.permanent      D.temporary

46.At least six times since the end of the last ice age, the Mississippi River has dramatically altered its _____.

    A.course      B.road      C.way      D.channel

47.The purpose of this program is to measure students’ _____ to learn instead of their present achievement.

    A.determination      B.capacity      C.process      D.attitude

48.Words failed to _____ her excitement when she was told she had won the first prize in the music competition.

    A.explain      B.convey      C.conduct      D.transmit

49.Please write your name in the _____ space at the top of the form and then hand it back to me.

    A.empty      B.bare      C.blank      D.hollow
50.There will be a series of _____ on the British legal system in our department.

    A.speeches      B.classes      C.address      D.lectures

51.It is the _____ for the bride’s father to pay for the wedding.

    A.custom      B.habit      C.hobby      D.pattern

52.The refrigerator will be sent to your house within three days free of _____.

    A.expense      B.charge      C.payment      D.cost

53.Creating a new festival may seem an unusual way to celebrate history and culture, but we are _____ all creating new festival every year.

    A.in fact      B.in a word      C.in general      D.in turn

54.If you don’t want to be down and out, you’d better try your best to _____ the fast pace of modern society.

    A.make up for      B.live up to      C.keep up with      D.put up with

55.None of us expected Doctor King to _____ at the meeting. We thought he was still in America.

    A.turn down      B.turn off      C.turn to      D.turn up

56.The plain silver ring was her favorite; it was _____ to her form her great-grandmother.

    A.handed out      B.handed down      C.handed over      D.handed in

57.On seeing the old lady crossing the road, she _____ her car immediately.

    A.pulled up      B.pulled down      C.pulled in      D.pulled off

58.Glass-fiber cables can carry hundreds of telephone conversations _____.

    A.at length      B.at the moment      C.at the same time      D.at intervals

59._____ this sad event, we have canceled the 4th of July celebrations.

    A.In regard to      B.In light of      C.In line with      D.In terms of

60.This kind of vegetable is extremely expensive in winter because it is _____.

    A.out of season      B.out of fashion      C.out of date      D.out of order

Part Three. Cloze 
Passage One  

Most people agree that fencing is one sport in which a person must be at least 30 years old before he learns all he needs to know about the sport.  1  Clark Summers of the University of Detroit  2  that this doesn't always have to be  3  . 
　　Clark is a different kind of fencer in a lot of  4  . He is American, while most fencers are from the  5  of Europe. He is black while most fencers in the past have been  6 . And he is  7  22 years old.
　　Many people  8  that Clark is the most promising fencer in this country today. Although he is young, he has been able to  9  the necessary skills. Already he has won a number of fencing contest  10 older fencers. He is almost  11  to become a member of the U. S. Olympic fencing team! 
　　"There is no  12  danger in fencing, today, Clark says. "But I never  13  that fencing was not always a sport. In the old days, People fenced to  14 a quarrel. Each match was a matter of  15  If that 16  true in the matches I  17  in today, every touch against me would mean that I  18  wounded or killed. So I try to play  19  l were fencing for my life. I don't like, the idea of being  20  ! " 
1.  A. And 　　      B. But 　　　　   C. Then 　　　　  D. So
2.  A. heard 　　     B. has thought 　　 C. has shown　　　D. suggested
3.  A. true 　　      B. wrong 　　　　 C. clear 　　　　  D. clever

4.  A. sense 　　     B. sports 　　　　 C. ways 　　　　  D. times
5.  A. countries 　    B. east 　　　　   C. west 　　　　  D. schools
6.  A. brave 　　     B. strong 　　　　 C. white　　　　  D. young
7.  A. at least 　　    B. not 　　　　   C. already 　　　  D. only
8.  A. expect　　     B. think 　　　　  C. hope 　　　　  D. find
9.  A. study 　　     B. know　　　　   C. improve 　　 　D. master
10. A. with 　　      B. over　　　　    C. against 　　　  D. instead of
11. A. ready 　　      B. able 　　　　   C. going 　　　　 D. certain
12. A. large 　     　 B. such 　　　　  C. real 　　　　   D. little
13. A. think 　　      B. agree　　　　   C. forget 　　　　 D. remember 
14.  A. make 　　    B. pick 　　　　   C. start 　　　　  D. settle
15.  A. joy and sorrow 　　　　　        B. life and death　　
    C. success and failure 　　　　       D .brightness and darkness
16.  A. should be 　   B. came　　　　   C. were 　　　　  D. is
17.  A. play　　      B. go 　　　　    C. work 　　　　  D. stay
18.  A. would get 　   B . were　　　　  C. was 　　　　   D. had been
19.  A. even if 　　    B. as 　　　　   C. if 　　　　     D. as if
20.  A. a fencer 　     B. a winner　　　 C. missed 　　　   D. killed 
Passage Two
Historians tend to tell the same joke when they are describing history education in America. It’s the one 1  the teacher standing in the schoolroom door 2  goodbye to students for the summer and calling 3  them, "By the way, we won World War II." 

The problem with the joke, of course, is that it’s 4  funny. The recent surveys on  5  illiteracy (无知) are beginning to numb(令人震惊): nearly one third of American 17-year-olds cannot even 6  which countries the United States 7  against in that war. One third have no 8   when the Declaration of Independence was 9  . One third thought Columbus reached the New World after 1750. Two thirds cannot correctly 10  the Civil War between 1850 and 1900. 11  when they get the answers right, some are 12  guessing. 

Unlike math or science, ignorance of history cannot be 13  connected to loss of international 14  . But it does affect our future 15  a democratic nation and as individuals. The 16  news is that there is growing agreement 17  what is wrong with the 18  of history and what needs to be 19  to fix it. The steps are tentative (尝试性的) 20  yet to be felt in most classrooms. 

1. A) about         B) in          C) for            D) by

2. A) shaking       B) waving      C) nodding        D) speaking

3. A) in            B) after        C) for            D) up

4. A) rarely         B) so          C) too            D) not

5. A) historical      B) educational   C) cultural        D) political

6. A) distinguish     B) acknowledge  C) identify       D) convey

7. A) defeated       B) attacked     C) fought         D) struck

8. A) sense         B) doubt        C) reason         D) idea
9. A) printed        B) signed       C) marked        D) edited

10. A) place          B) judge       C) get           D) lock 

11. A) Even          B) Though     C) Thus          D) So

12. A) hardly         B) just        C) still           D) ever

13. A) exclusively     B) practically   C) shortly        D) directly
14. A) competitiveness  B) comprehension C) community   D) commitment

15. A) of            B) for          C) with          D) as
16. A) fine           B) nice         C) surprising     D) good
17. A) to             B) with        C) on           D) of

18. A) consulting      B) coaching     C) teaching      D) instructing

19. A) done 　        B) dealt        C) met          D) reached

20. A) therefore        B) or          C) and          D) as 

Passage Three

    The rocket engine, with its steady roar like that of a waterfall or a thunderstorm, is an impressive symbol of the new space age.Rocket engines have 1  powerful enough to shoot astronauts 2  the earth’s gravitational pull and 3  them on the moon.We have now become space 4  .

Impressive and complex 5  it may appear, the rocket, which was 6  in China over 800 years 7  , is a relatively simple device.Fuel that is 8   in the rocket engine changes 9   gas.The hot and rapidly 10   gas must escape, but it can do so only 11   an opening that 12   backward.As the gas is 13   with great force, it 14   the rocket in the 15   direction. Like the kick of a gun 16   it is fired, it 17   the laws of nature 18   by Sir Isaac Newton when he discovered that“ 19   every action, there is 20   equal and opposite reaction.” 

1.A.shown         　 B.been　        C.appeared 　       D.proved 
2.A.against　        B.despite 　     C.beyond 　         D.from 
3.A.send 　         B.land 　       C.take 　           D.carry 
4.A.travelers 　      B.astronauts 　  C.researchers 　      D.explorers 
5.A.that 　          B.so 　         C.as 　            D.sometimes 
6.A.made 　         B.discovered 　 C.developed　        D.invented 
7.A.in advance 　    B.before 　      C.earlier 　         D.ago 
8.A.round　         B.contained　    C.stored 　         D.burned 
9.A.as 　           B.into 　        C.for 　            D.the 
10.A.heating 　      B.escaping 　    C.expanding 　      D.conducting

11.A.in　            B.at 　         C.by 　            D.through 

12.A.turns 　        B.goes 　       C.faces 　           D.directs 
13.A.transmitted 　   B.dispersed 　    C.erected 　        D.radiated 
14.A.attracts 　       B.leads　       C.pulls　            D.pushes 
15.A.same 　        B.other 　       C.opposite 　        D.wrong 
16.A.that 　         B.when 　        C.if 　            D.although 
17.A.states 　       B.proves 　       C.follows　         D.breaks 
18.A.described　     B.discussed 　    C.considered 　      D.made 
19.A.like 　         B.as 　          C.with 　           D.for 
20.A.no 　          B.an 　          C.another 　        D.the 



